20234EE B 7Y yh—)—5 18 HRKIERE
2023/11/29

TNEl=7 31 | 11 [10[1]0(52| 5| 47
2| KBTS =7 28 | 11 |9|1]1(58]4| 54
3|BMiEE 27 | 11 [ 8|3|0|41|6]| 35
4|{EEHIZEFC 24 | 11 |8|0[3|29|9| 20
5\BRIS =7 16 | 11 |5|1]5(24[18| 6
6|FELOTUR 13|11 |4[1]6[12{26] A 14
7|FC.SPR 12 | 11 |3|3|5|15{40 A 25
8| TR —F 10 | 11 |3 1|7 [11|31] A 20
9|BFEZ=T 9 |11 ]2]3]6[10[29] A 19
10|FCA—T4TUR 9 | 11 |3|0|8[11[36] A 25
77|SS1—0O 7 |11 ]2]1]8]|10(39] A 29
12| SFADZT 4 |11 [1[1]9]7]|37] A 30




202345 E EERI=7Hvh—I—7 18 BER

2023/11/29
=):c3 =15 BAREFRE| 3 F—L% B/ B/ F—L4% z ¥ BEF—L
10:00 | 1 KETV=7 2(vs| 0 BET =7 gl =7
11:10 | 2 Ngv=7 71vs| 0 IRF—5 ERITZEFC
12220 | 3 ERIEFC 3|vs| O SEFAVZT BMiE &
4/16(H) gg FC.SPR
13:30 | 4 BMiE R 6(vs| O ssSa—m £RLOTVR
1440 | 5 FC.SPR 11vs| 1 LS~ 1 N RRY=7
15:50 | 6 BEY=7 3|vs| 2| FCF—F4xToR FC.SPR
18:30 | 7 BRI =7 3(vs| 0 IRMN—F KETO=7
Y54 XHE
19:40 | 8 RETO=F 5|vs| 0 SEFAV=T Erre =7
BRI =7
18:30 | 9 FC.SPR 0|vs| 1| FCHF—F1T>R ss1—no
4/22(t) | yo514Xdt
19:40 |10 Ng=7 4 |vs| 0 ss1—no FCA—T4IVR
18:30 | 11 BMIER 1]vs| 1 BRY=7 fERHTEFC
EBEATE BMIE R
19:40 |12 e fIEEFC 1(vs|O £ELOTUR BM{EE
18:30 |13 IR —5 4 |vs| 0 SFALZT Eare=7
BEA SEALZT
19:40 |14 ER =7 6(vs| O ssai—m SFAVZT
18:30 |15 ngly=7 71(vs| O BEY=7 XETS =7
5/6(1) Yo54X3t
19:40 |16 KETS =7 7 |vs| 0 FELIIVR nge=7
FCA—T4TVR
18:30 |17 BMIEE 6 |vs| 0| FCA—F4ToR R RATEFC
YUF14XHE
19:40 |18 EBmIEFC 4 |vs| 1 FC.SPR FCA—TATUR
10:00 |19 SFAV=T 2 1(vs| 0 ssai—m IXFL—5
11:10 |20 IR —F 3|vs| 0 £EUOIUR B#=7
12:20 | 21 EFi =7 3|vs| 0 B# =7 AET=7
5/28(R) BBA gl =7
13:30 |22 KETL =7 17|vs| 0 FC.SPR BM{EE
14:40 |23 ng=7 2 |vs| 2 BMiEE FCA—TFT1IUR
15:50 | 24 ERAZEFC 3|vs| 0| FCH—F1xToR gl =7
18:30 |25 ssa—m 1|vs| 2 H£RLITVR SFAYVZT
6/17(L) BEALZ HELUIUR
19:40 |26 SEAYZT 2 |vs| 2 HRY=7 GELOIVR
18:30 |27 IR —F 1|vs| 3 FC.SPR =7
Y54 Xdt IR —F
19:40 |28 Ngy=7r 3 (s 0 | FCHF—F4ToR IRF—5
6/24(L)
18:30 |29 KETO=7 31|vs| 0 {ERHTEEFC Erre =7
BEALZ KETL=7
19:40 |30 ER =7 0|vs| 3 BMEER KETY=7
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2023/11/29
i =):c3 =5 BAIREERE| 3 F—L% B/ B/ F—L4% z ¥ BEF—L
18:30 | 31 HELOTUR 1|vs| 2 B#=7 FC.SPR
Y54 XHE
19:40 |32 ssa—no 11vs]| 1 FC.SPR Bi# =7
BRI =7
18:30 |33 BES=7 0 (3% 3 NaEe=7 FCA—FT4IUR
6 | 7/15(x) | 43/ X4t
19:40 | 34 KETS=7 9|vs| 0| FCA—FT+1TUR BRI =7
18:30 | 35 IR —5 0|vs| bH {EEFTEFC SFAVZT
BREATE IZRFL—5
19:40 | 36 SFAV=T 0O|vs| 6 BMIEE IRNL—5
18:30 |43 SFALV=T 1(vs| 2 BRI =7 IRN—5
8 | 9/16(t) | BEAIZE SEFAV=T
19:40 | 44 IR —5 0|vs| 3| FCAF—74xToR SFALZT
10:00 |37 A& =7 0|vs| 3 FC.SPR HELUIVR
11:10 |38 g UV 2 |vs| 3 BMIEE ssa—n
12:20 | 39 ssa—n 1|vs|5H {EEHTZEFC gl =7
7| 9/24(H) [EEZ/S KBTI =7
13:30 | 40 SEFAV=T 1|1vs| 8 JEl=7 IRMN—5
14:40 | 41 IXF—F 0|vs| 1 KEre=7 FCA—F4IUR
15:50 | 42 BRI =7 6 |vs| 0| FCA—F1xTVR KETL=7
18:30 | 45 ssa—nm 1(vs|10 KETL =7 EELYIVUR
Yo514Xdt ssa—o
19:40 | 46 H£ELUTUR 0O|vs| 6 gl =7 ssa1—n
8 | 9/30(%t)
18:30 | 47 BEY=7 0(vs| 3 {EHFTZEFC FC.SPR
BEALZ EEHIEFC
19:40 | 48 FC.SPR 0(vs| H BMiEHE fEHEHTHEFC
18:30 |49 ssa—nm 0|vs| 1 IRFL—5 SE¥ALZT
PS4
19:40 |50 SEALZT 1|vs| 2 | FCA—F4ToR ss1—n
9 | 10/14(L) Bi#=7
18:30 | 51 BEY=7 0|vs| 2 KETL =7 BRIy =7
Yo54Xit
19:40 |52 HELYIUR 3 |vs| 1 BaT =7 REY=T
18:30 |55 HFLOTUR 1|vs| O IFAYZT FCA—T4IUR
Y514 XHE
19:40 |56 ssa1—m 3|vs| 2| FCH—F1TVR L5+ 3 N
10 | 10/28(x) H$EBLOIVR
18:30 |57 FC.SPR 2 |vs| 2 BEIY=7 BRY=7
H514Xt
19:40 |58 BREY=7 2 |vs| 2 IRFL—F FC.SPR
18:30 |53 BMiER 1(vs| O ERILEFC FC.SPR
9 | 11/11(b) | BERALE BM{E
19:40 |54 FC.SPR O|vs| 8 Ngy=7 BM{E R
18:30 |59 fERHLZEFC 1|vs| 2 Ngy=7r BM{E R
10 | 11/18(x) | Bo514X4 fEEFTEFC
19:40 |60 BMIER 1|vs| 1 KETO=F fERHTEFC
10:00 |61 ngy=7 2 |vs|1 XETS =7 Egr> =7
11:10 |62 fERHLZEFC 4 |vs| 1 g =7 ngl=7
12:20 |63 BMIEE 71vs| 0 IR —5 FC.SPR
11| 11/26(8) |FFEERE §sa—m
13:30 |64 FC.SPR 4 1vs| 0 SFAVZT REY=T
14:40 |65 B#EL=7 0|vs| 3 ssa—m FELIIVR
15:50 | 66 $ELOIUR 2 |vs| 1 FCA—T4TUR ssa—no
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202 3FE HBEY=7Y—4 2 EBIEHLREE
2024/2/15
e 235 BRIAESRE | NO. F_L% F— L% = ¥ HEF— L

9:00 |1 L 7ILEif 3 g 0 BE =7 |vz=7zEeyuyy

10:10 | 2 |94 v oFCo=7| § VS 0 |&EEHRFAL=7| LT7ILER

11:20 | 3 | ERER{EEE 5 |vs| 0 |v=7zrrvyv|eanems=7

2024% |\ Y¥F4X| 1930 | 4| mssc 0 |=#| 3 | EANISSIN | BIEZH |Gerasore.FC
2A11H it

13:40 | 5 [EEfIELHVF| 0 |=E| 3 |[KBEF=7| EANISSIN

14:50 | 6 SK.infinity 0 Vs 2 Gerasore.FC | fIEtAH >V F

16:00 | 7 FC7 440 3 EiE 0 |mgly=7xs>F| Gerasore.FC

MAENO.TDH, 5l EHIFDIHE, PKEZITVL 1HZRET 5.
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2023/11/6
Bz ¥ — L & |[BbR|EEH| B | 2| 8 |[#fR|XR| /XK
/IFCO44 O 18| 7 |6|0|1]40| 6| 34
2|SK.infinity 16| 7 |5|1|1]18| 6| 12
3EEHIELHUR| 10| 7 |31 |3 |11[14] A 3
4|FEESSC 10| 7 [3|1]|3]14|18] A 4
5|BRERIEZEER [ 10| 7 |31 |3|12|16| A 4
6|94 FFCo=F7| 8 | 7 |2|2|3[|10|11| A 1
7\ILT7ILER 8 | 7 |2|2|3[11]14| A3
B|EXRA /LR 0| 7 |0|0]|7]|2|33]A 31




2023FEF KAEBERIZF7I)—JK2EA> BEXR 2023 11468
B =15 BHIARERE NO. F—L% #a #Ba F—L% LEF—L
18:30 | 1 SK.infinity 4 |vs|1 fEi£SSC FCo«AO
54X
19:40| 2| FCo«AE 3|vs| 0 |H42FFCo=7| SKinfinity
4/15(1) SK.INFINITY
18:30 | 3 [{EBHIELHUR| 4 |vs| 0 |ERA/VLR | BLERIEZEED
US54 XHE
19:40 | 4 | BABRKIEZEER | 1 |[vs| 1 L7ILEW |#BEaEehar
18:30| 5| FCoO«4AO 8lvs| 2| BABKEZEE |EXA2/ULR
54X
19:40 | 6 |ERKA/8LR| 0| vs| 4 SK.infinity FCo«4AO
4/29(1) EBHELHUR
18:30 | 7 [{EBHELHUKR| 2 |vs| 4 FEiESSC L7 ILEH
Y54 E
19:40 | 8| LT7ILEE |2 |vs| 4 |q b FCo o7 |eBiTELDIR
10:00| 9 |ERA/NLR| 1| vs]| 4 EE2SSC BB {8 22 0
5/1(8) | Y>54X@E EXAU/NLA
11:10 | 10| FABKEZER | 2 |vs| 1 |94V T FCOZF|ERA/8LR
9:00 |11 E£SSC 2 |vs| 1 L7ILEWE | Fco=7
10:10 | 12| 94> FFCo=7| 3 |vs| 0 |[ERA2/NJLA| SKinfinity
6/18(8) | FFEERE FCo«AhR
11:20 | 13|  SK.infinity 4 |vs|1 FCO«4A O | BABK{EZEER
12:30 | 14| BABRKIEZRER | 0 |vs| 1 |[#EBHELHUR| FCO4HDO
18:30 | 15 E£SSC 2 |vs| 3| BRABRBZER |YariFCr=7
Y544
19:40 | 16 | 94> FFCL=7| 0 | vs| 2 SK.infinity Ei#ESSC
8/19(+%) EXRA/NLAR
18:30 [17|EKRKA/SLR| 1| vs| 3| LTFILEW |#EELZELHIF
Y54 XE
19:40 |18 [ {EBHELHUR| 0| vs| 6| FCO4AHDO |EXAS2/LR
12:30 [ 19| 9425 FCo=7| 1 | vs| 1 [{EB#ZELHUR| FEESSC
13:40 | 20 EiESSC 0|vs| 6 FCO«4HB |Yqv5Fco=7
9/17(R) | 54Xt L7 ILEHH
14:550 | 21| SKinfinity | 1|vs| 1| L7IEHE | BiERERE
16:00 | 22| BAERIEZEER | 4 [vs| 0 |ERAV/NILR| LTILER
18:30 [ 23| FEi#SSC 1|vs| 1|45 FCo=7| SK.infinity
Y544t
19:40 | 24|  SK.nfinity 3|vs| 0| HRABRIBEZEER |YqviFCr=7
10/7(t) 42T FC
18:30 |25| L7ILEHE | 3|vs| 0 |[#EBHELAVR|EXI2/NLR
Y54 XE
19:40 |26 | ERA/NLA| 0 |vs|11| FCo4HO L7 ILEH
18:30 | 27 |[{EBHIEEHUR| 3 || 0 SK.infinity FCo«440
1M/4x)| BEALZ hBIELHIR
19:40 | 28| FCo«AHO 5| vs| 0| LZILEBH |[E8aEthr




20231EBR=7HYvh—1)—-[2&B)] =KIELIER

2024/1/29
B] ¥ — & % [Boalges| B o] alealxs] B8xA
7 NEl=7+thorF[ 16| 6 |5|1]0(|24] 5| 19
2 |GerasoreFC | 11| 6 | 3|2 |1]|15]|10| b
3 EERITL=7| 11 6 | 3[2]|1]|10]| 6 4
4 |EANISSIN 9| 6 |3|0|3|10{14| A 4
5 |=F7AREYyY| 5| 6 |1|2|3]|6]|8| A2
6 |[EBEHERL=7| 4 | 6 |1|1|4]|3[14|A 11
7 BT 2 | 6 [0|2(4]1]12]|A 11




2023FE BRI =7U—JK2&B> HIEX 202417298
AEs 215 B84 E5RT NO. F—L% /Al |8a F—L% £ ¥ LEF—L
13:30 | 1 {(EBEFTFS=7| 1 |vs| 1| Gerasore.FC |Y=F7XEUvY
4/16(H) | Y254 X3t | 14:40 | 2 |NEIS=F+H2R| 5 [vs| 2| EANISSIN |#&&®#®F=7| Gerasore.FC
15:50 | 3 [#EBEW&RAL=7| 1 |vs| 0 [ =FREYY|Gerasore.FC
1340 | 4| EBY=7 |0 |vs| 0 [#EBHRHAL=T|S=F7REUYY
6/18(B) | RFFEERSE | 1450 | 5 B =7Eh K| 4 |vs| 1 [{EBRFL=7| BEEVZT (EERFL=7
16:00 | 6 | EANISSIN |2 |vs| 1 |[O=FREYYY|IEERFL=T
10:00 | 7 EA.NISSIN 0|vs| 1 (EEBTS 7| kBERRF =7 B
1/28(8H) [/ nele=r
11:10 | 8 | Gerasore.FC | 4 |vs| 0 [{E&M&ER=7| EANISSIN
2/4(H) | /METRFCIE | 10:00| 9 |=FREYYY| 3 % 0| BB =7 |Gerasore.FC| SS1—QA
o 18:30 | 10 [fEBH&AI=7| 0 |vs | 4 {EEBFFL =7 |NEl =7Hhr
8/26(%) FHIAXE 19:40 [ 11| GerasoreFC | 1 |vs| 1 |7 REYYY | EBRFL =7 |EETERHAL=7
HUS4Xd 1940 (12| BEI=TF |1 |vs| 1 |NBIS=F7EAUR|EEGRFL=7
13:30 (13 |[{EBRTF=7| 1 |vs| 1 |>=TF7REUYY| EBL=T
9/10(8) | 254 X4t | 14:40 [14 | NIEI>=F+HhK| 8 |vs| 1| Gerasore.FC |[{EEBEFL=7|NEIS=7tAR
15:50 | 15| EA.NISSIN 3|vs| 0| BEBEIVZF |nE=7thror
9:00 |16 |JIBIS=7+tAUK| 3 |vs| O |[tEEM&RF=7| EANISSIN
9/17(B) | 54X d [ 10110 [1THEBRFI=7| 2 |vs| 0| BEEBV=T |kaw&kH =7 BEV=T
11:20 [ 18| EA.NISSIN 0|vs|5| GerasoreFC | EEL =7
9:00 |19| GerasoreFC |3 |vs| 0| EBEI=7 EA.NISSIN
11/12(8) | Y254 | 10:10 | 20| B =7+tAUR| 3 |vs| 0 | =T AEYwY|Gerasore.FC|IIEIL =7 Aok
11:20 | 21| EA.NISSIN 3 |vs| 2 [EBEHEMI=7 | N =7EhF




